2. Each point lies on the terminal arm of angle 6 in standard position.

i) Draw a sketch of each angle 6.

ii) Determine the value of » to the nearest tenth.
iii) Determine the primary trigonometric ratios for angle 6.
iv) Calculate the value of 6 to the nearest degree.
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6. Angle 0 is a principal angle that lies in quadrant 2 such that 0° = 6 = 360°.
3 Given each trigonometric ratio,
i) determine the exact values of x, y, and r
ii) sketch angle 6 in standard position
iii) determine the principal angle 6 and the related acute angle 3 to the
nearest degree
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4. Use the relas®cues angle to state an equivalent expression.
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8. Use each trigonometric ratio to determine all values of 8, to the nearest

degree if 0° = 6 = 360°. Q \ A
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